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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Graph the pair of parametric equations.

135)x=3t,y=t+1, -2<t=3
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135)
138)
¥
10
-10 10 =
-10
139)
130)
10+¥
20 20 =
-10
137)
¥
10
-10 10 X
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Eliminate the parameter.
140) x=3t, y=t+7
Ayy=x/3+7 B)y=x/3-7 Cly=3x-7

4l x=t+4,y=t2

A]y=x3+16 B]y=-\f;+x+4 C)y=alx-4

W) x=t2+1,y=t2-1

A)y=x+2,xz1 B]y=x:—2,xz'l C':]y=x:+2,le
143y x=t-06,yv= 4
- t+
4 4 . :
A)yy= B)v= Q) vy=
)3 x+8 )y x+2 )y x+ 14
144y x=3 cost, y=3sint
A)x2 syl =3 B)y=xtant C) x:+y:=9
Find the parametrization for the curve.
145) The line through the points (1, 2) and (5, -2)
A)yx=4t+5 y=4t+2 Byx=-8t-1,y=1t-2
C)x=-4t-1,y=4t-2 Dyx=4t+1,y=-4t+2

146) The circle with center (9, 4) and radius 6
Ayx=9+06ty=4+06t forO=t=21m
B)x=9+6cost,y=4+06sint, forO=st=21m
C)x=-9+6sint,y=-4+6cost forO=t=2n
D)x=9+36cost,y=4+36sint, for0=st=21n

- . . . 5 ..
147) The portion of the circle x= + y= = 2 that lies in the second quadrant

D)yy=3x+7

D)y =x2-8x+16

Djyy=x-2x=z1

D)}r:

—x+ 14

D) (x+ },-'): =9

. . 3= . . T
A)x=2cost, y=21sint, for — Lot=2n B)x=2sint,y=2cost, for TL <t<m
-
. . T \ . : 3n
C)x=2cost y=2sint, for _: <t=m D)x=2sinty=2costform=t=<

-
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Use the given graph to find the values of t that produce the graph in the given quadrant.
148)x=4 -]t y=t-1,-6=t=<6

101Y
-6 6 %
-10
Quadrant I
A)l=t=4 B)yd=t=o6 C)-4=t=1 D)-6=st=-4

149) x=4 - |t|, y=t-3, -6<t=6

104+Y
-6 6 X
-10
Quadrant II
A)-b6=t=-4 B)3=t=4 Cid=t=o6 D)-4=t=<3
150) x =4 -|t|, y=t-3,-6<t<6
1047
_I6I T T T T T T I6 %
-10
Quadrant IV
A)-4d=t=3 B)3=t=4 C)-6=t=-4 D)yd=t=<6
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148) A
149) C

150) A



